Unit 6 Math Test Review

Name: #:

Parent Signature (test alert):

Test is on:

1. Match each equation with its solution set.

m+2=2+m {0}
m-2=2 {4}
m=4+m {all numbers}
|m| =2 {-2, 2}
m*2=0 {}

2.
a. Identify the expressions that are equivalent to 3(m + 4) + 2(m - 3).

@O 3@+m)-2m-3) @ 3m+12+2m-6 ® 3m+12-2m-3
@ 3m-6+2m G) 2(m+4)+3(m-3) ©® 5m-6

b. Simplify 3(m + 4) + 2(m - 3).

c. Explain how you know that the expressions you selected in Problem 2a are equivalent to
3(m+4)+2(m-3).




3.

a. Mr. Williams decided to use trial and error to find the solution to s(s + 2) = 43.
Mr. Williams substituted 6 for the s. He decided to try 5.5 next.

Explain why 5.5 is a reasonable choice.

b. Find the number that is close to the solution of s(s + 2) = 43.

s s+2 s(s+2) Compare s(s + 2) to 43

55

c. My closest number:

4. Solve these pan-balance problems.

90 . —~__
afala
000, . 954 O~ ==,
= =/ 0\ | / | x [

1glass = __ spoons.

1 ball = cubes. 1 glass = spoons.



5. Use the bar models to solve the problems.

a.Solve 6m + 2 =3m + 14.

m=

b. Fred is 7 years older than Jim. Jim is half as old as Fred.

Define a variable for Jim’s age:

Write an equation you can use to model the problem:

How old is Jim? Show your work below.

Jim’s age:

6. Describe the operations for the pan-balance diagram. The first of the diagram describes the original
equation. Use words to describe each operation performed on each line of the diagram.

Original equation \ g+4 ,_\ 79g+28
| ]

>

Operation (in words)

/ | yay |
\ 419 /=\ 214 /
7aY
/ \ -f’ /=\ ‘IS /
7Y

d. Substitute your final answer for g in the original equation to show that it is a solution.
11g+4=7g+28



7. Solve each equation. Show how you solved each problem in the spaces below. Check your answer.

a.56=29+v b. L =26

Answer. Answer:

Check: Check:
c.1q+7=12 d.2a+39=75-4a
i Answer:

Check: Check:



For problems 8 and 9:

- Define a variable.

- Represent each story situation with an equation.
- Solve your equation.

- Check your solution.

8. Ethan and his brother each sold the same number of raffle tickets. They began with 42 tickets in all.
After the sale was over, they were left with 8 tickets in all. How many tickets did each brother sell?

Variable:

Equation:

Solution:

Check:

9. Steven is reading a story for a class assignment. He has read 7 pages of the story so far. He decides to
read 15 pages a day until he finishes the story. The story is 82 pages long. How many days will it take
Steven to finish the story?

Variable:

Equation:

Solution:

Check:
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2.
a. Identify the expressions that are equivalent to 3(m + 4) + 2(m - 3).

D 34 +m—2m—3) @Y sm+12+2m~6 B) sm+12-2m-3
3m— B+ 2m () 2m+4)+3m-3) 5m — 6
b. Simplify 3(m + 4) + 2(m - 3). | 2pn LA+ A
Sm +L

¢. Explain how you know that the expressions you selected in Problem 2a are equivalent to
3(m+4)+2(m-3).

l+ (s the @f\i&? anSwer +hat alss  simplifies

|}
1o Spa o




3.

a. Mr. Williams decided to use trial and error to find the solution to s(s + 2) = 43.
Mr. Williams substituted 6 for the s. He decided to try 5.5 next.

Explain why 5.5 is a reasonable choice.

5.5 is a reasongble © @@@mzm (o (s tew

@&V‘@g Q&ﬁé%} but ot gﬁ%ﬂg

b, Find the number that is close to the solution of s(s + 2) = 43.

; 72 | sit2 | Comparests+ 210 8
ss | 15| Ys Lya
S¥ | 1% 4s.24 T4
Sb | T | w2s <43
=S6S | LLS| 4322 P
5.63 1 TL> | 4290 {42
¢. My closest number: &3 -{g 2

4. Solve these pan-balance problems.

a.

SRS
ala/ga oy S
\ 90 , \ @’:‘% / ﬁz“?ig/
;

AN

tball = __ cubes,

1 ball = 1.: 3 cubes.

giass B spoons.

1 glass = @ spoons.



5. Use the bar models to solve the problems.

a.Solveem + 2 =3m+ 14,

JTom 2\
L Om ey

G | 2 BM%\MEMEM 2-
\\\ &m\\ 2| 2 ENEIE b 2

m=___ 4%

b. Fred is 7 years older than Jim. Jim is half as old as Fred.

= Mies age

F=F—= Q)=

SN = 3+

Define a variable for Jim's age:

J 7

Write an equation you can use to model the problem:

How old is Jim? Show your work below.

Jim’s age:

Jim (s 711,?—& old

6. Describe the operations for the pan-balance diagram. The first of the diagram describes the original
equation. Use words to describe each operation performed on each line of the diagram.

Original equation \ Hg+4 .\ T7g+28
1 ——
A
Operation (in words)
I

Sebtrect Tg
DiV%&Q i@% Loy

d. Substitute your final answer for g in the original equation to show that it is a solution.

11g+4=7g+ 28 {u%‘€$§ g = é??%{g>‘ﬁ“‘3%
le +4 = 42 +2Y
D0 = "o




7. Solve each equation. Show how you solved each problem in the spaces below. Check your answer.

3.56=29+v Bl=288+V
529 & T =%
Answer. 9 1
Check:
Bl =0.9+277
D = 8 (e
L.
c.lg+7=12 g +7 =%
' ST i
Answer. g = 5
Crack: -~~~ 1T r]
Q =35

i “@
b =26 i T 2l
A
Answer, ﬁ% = VoY
Creck: ,,,@ = O
Lo
G = A
A = Al

d. 25 + 39 =75 — 4a
2a 2% 154a
Ada  (pa+23 =715
S3 (g T D6
Lo a =l

Answer

Check:

(3% +3% = TS ~(4*0)
a3y T 5 -2y
S = 5|




For problems 8 and 9:

- Define a variable.

- Represent each story situation with an equation.
- Solve your equation.

- Check your solution.

8. Ethan and his brother each sold the same number of raftle tickets. They began with 42 tickets in all.
After the sale was over, they were left with 8 tickets in all. How many tickets did each brother sell?

Variable: wt = “‘“tE‘ Qk.@“%ﬁ» ﬁsﬂ%&

-t -
Equation: L’%Q% = w%;éf* o %@; _ (Eﬁ W%E%\
= ?3:5& M2
4 = ;%‘;‘i

& Ay g =t

Solution: -+ = @ﬁ Q,

Check: 5‘%2 = QQ;"?} L%E_ = %% , L‘% 2= L2

9. Steven is reading a story for a class assignment. He has read 7 pages of the story so far. He decides to
read 15 pages a day until he finishes the story. The story is 82 pages long. How many days will it take
Steven to finish the story?

Variable: d = d%& 1o Q'N%.&@& Stor Y
Equation: g g “""r? = 13 d
73 = 15d
D5 5 = d

Solution:

Check:




